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9 In the diagram, ABC is a right-angled triangle and DEF is a semicircular arc.
A
Diagram NOT
accurately drawn
B C
24cm
In triangle 4ABC
BC=24cm angle ABC = 90° angle BCA = 30°
The points D and F lie on AC so that DF is the diameter of the semicircular arc DEF
The radius of the semicircular arc is 3 cm.
Work out the length of AFEDC
Give your answer correct to 2 significant figures.
.
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(Total for Question 9 is 5 marks)
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10 The table gives information about the population and the total amount of money,
in dollars, spent on healthcare for two countries in 2016

Country Total population Total spent on healthcare (§)
Austria 8.7 x 10° 4.2x10"
Luxembourg 6.3 x 10’ 3.7x10°

Work out how much more was spent per person on healthcare in Luxembourg than
in Austria.

Give your answer correct to the nearest whole number.
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(Total for Question 10 is 3 marks)
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11 (a) Complete the table of values for y = —
X

0.5

X
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(Total for Question 11 is 4 marks)
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12 The diagram shows two vertical phone masts, 4B and CD, on horizontal ground.

D
Diagram NOT
accurately drawn
B
30.7m
6.2m
4, C

244m

AB=6.2m AC=244m CD =30.7m

Work out the size of the angle of depression of B from D
Give your answer correct to one decimal place.

(Total for Question 12 is 3 marks)
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13 a=+/8+4

b=8-4

(a — b)(a + b) can be written in the form y\/4y

Find the value of y

Show your working clearly.

e
(Total for Question 13 is 3 marks)
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14 A group of 60 students each sat an algebra test and a geometry test.
Each test was marked out of 110

The cumulative frequency graph gives information about the marks gained by the
60 students in the algebra test.

60

50

40

Cumulative
30
frequency

20

10

0

0 10 20 30 40 50 60 70 80 90 100 110
Algebra mark

(a) Use the graph to find an estimate for the median mark in the algebra test.

(b) Use the graph to find an estimate for the number of students who gained 58 marks
or less in the algebra test.
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DO NOTWRITEIN THIS AREA

(c) Use the graph to find an estimate for the interquartile range of the marks gained in
the algebra test.

The interquartile range of the marks gained in the geometry test is 9
Luis says

“The students’ marks are more spread out in the algebra test than in the
geometry test.”

(d) Is Luis correct?
Give a reason for your answer.

To be awarded a grade A in the algebra test, a student had to gain a mark greater than 64
Two students are to be selected at random from the 60 students in the group.

(e) Use the graph to find an estimate for the probability that both of these students were
awarded a grade A in the algebra test.

(Total for Question 14 is 8 marks)
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15 Make ¢ the subject of n” = 5
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(Total for Question 15 is 4 marks)
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16 The diagram shows quadrilateral ABCD

D
28 cm

4 45cm Diagram NOT
accurately drawn

19cm

B 36cm C

The angle BCD is acute.
Given that the area of triangle BCD = 405 cm’

work out the size of angle ABD
Give your answer correct to one decimal place.

(Total for Question 16 is 5 marks)
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